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TESTING Ali is taking a test that contains a section

of 16 true-false questions.

a. How many of the possible sets of answers to these
questions have exactly 12 correct answers of false? 1820

b. How many of the possible sets of answers to these
questions have exactly 8 correct answers of true? 12,870
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BUSINESS The probability of a certain sales 9o . % b gy dida) Olowe wgsie Gaix Jlaisl Jlecdl
representative successfully making a sale is % . The -&%“’9' lin licge 12 W) Sl

sales representative has 12 appointments this week.

&M‘ﬂ lis Oladw Y Olewall Lgsio Gibxs pac Joizl s> a
a. Find the probability that the sales representative -

makes no sales this week. 6.87%

ag.z.w‘}” lia buall Slisw 3 Oleuell Ugsin §185 Jloisl s> b
b. What is the probability that the sales representative .
makes exactly 3 sales this week? 23.62% ol lin Olids 10 Olzeall Ggio Baixd Jlaisl s> .c

c. Find the probability that the sales representative
will make 10 sales this week. 0.0004%
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